|  | INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylon<br>Bill of Quantities -T/05/2024  |                |      |                                       |                   |  |
|--|--|----------------|------|---------------------------------------|-------------------|--|
| For the All Utilities of Five Days Exhibition (19,20,21,22 & 23 of June 2024 ) |  |                |      |                                       |                   |  |
| No   | Description  | Quantity       | Unit | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |  |
| Note:Bide  | lers shall carefully observe the stall/canopy layout plans,instructions provided in prebid meeting and notes before comp   | leting this bo | q.   |                                       |                   |  |
| NORMAL   | MARQUEES   |                |      |                                       |                   |  |
| 1  | Supply ,installation,removal after exhibition of fully open pre fabricated " <b>A" shaped German marquee</b> ( side covers should be closable when ever required) with suitable entrance and exists including <b>floor deck</b> s with <b>floor carpet</b> . |                |      |                                       |                   |  |
| 1.1  | Western Car park Tent (Hall - F1) - 65' x 20'  | 1,300          |      |                                       |                   |  |
| 1.2  | Western Car Park Tent ( Hall - F2) - 100' x 20'  | 2,000          |      |                                       |                   |  |
| 1.3  | Gate 4 Grass area Tent ( Hall - S1) - 170' x66'  | 11,220         |      |                                       |                   |  |
| 1.4  | Gate 4 Grass area Tent (Hall - S3) - 150'× 50'   | 7,500          |      |                                       |                   |  |
| 1.5  | Gate 4 Grass area Tent (Hall - S4) - 130'× 30'   | 3,900          |      |                                       |                   |  |
| 1.6  | Main Car Park Tent ( Hall -T1) - 280' × 30'  | 8,400          |      |                                       |                   |  |
| 1.7  | Main Car Park Tent ( Hall -T2) - 280' × 33'  | 9,240          |      |                                       |                   |  |
| 1.8  | Main Car Park Tent ( Hall -T3) - 250' × 30'  | 7,500          | Sqft |                                       |                   |  |
| 1.9  | Main Car Park Tent ( Hall -T4) - 200' × 50'  | 10,000         |      |                                       | -                 |  |
| 1.10   | Hall W1-(90'*20')  | 1,800          |      |                                       |                   |  |
| 1.11   | Hall W2-(90'*20')  | 1,800          |      |                                       |                   |  |
| 1.12   | Hall W3-(110'*20')   | 2,200          |      |                                       |                   |  |
| 1.13   | Hall W4-(100'*20')   | 2,000          |      |                                       |                   |  |
| 1.14   | Hall W5-(100'*20')   | 2,000          |      |                                       |                   |  |
| 1.15   | Hall W6-(80'*20')  | 1,600          |      |                                       |                   |  |
|  | Total of Page No. 01 carried to<br>Summary in Page No. 07  |                |      |                                       |                   |  |

| INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylon<br>Bill of Quantities -T/05/2024 |  |          |      |                                       |                   |  |
|---|--|----------|------|---------------------------------------|-------------------|--|
| For the All Utilities of Five Days Exhibition (19,20,21,22 & 23 of June 2024 )                              |  |          |      |                                       |                   |  |
| No  | Description  | Quantity | Unit | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |  |
| AIR CONI  | DITIONED MARQUEES  |          |      |                                       |                   |  |
| 2   | Supply, installation, dismantelling and removal after exhibition of fully covered, <b>Air conditioned</b> pre fabricated <b>"A"</b><br><b>shaped German marquee</b> with suitable entrance and exists including <b>floor</b> decks with <b>floor carpet</b> . (Following<br>criteria should be maintained for Air Conditioned canopy, 1. Temperature range 18 °C-24 °C. 2. No special heat source<br>permited in A/C Stalls. 3.LED lighting to be considered 4. Air Curtains should be installed at the entrances and existes)<br>(Attach A/C unit placement layout with the bid) Testing & commissioning should complete at 12 pm before<br>exhibition starting date and 4 hours test run to be done to ensure the expected delivery. |          |      |                                       |                   |  |
|   | Note: All Air conditioners should be connected to a distribution board with all necessary accessories including main cable from power source(i.e generator breaker or inbuild DB of the main Hall.)<br>Make a suitable arrangement for effectively cooling central walking paths/entire marquee using air conditioners or an airconditioned ducting system.  |          |      |                                       |                   |  |
| 2.1   | Hall -C (150' x 66')   | 9,900    |      |                                       |                   |  |
| 2.2   | Outer Gate Grass Area Hall - D (350' x 66')  | 23,100   |      |                                       |                   |  |
| 2.3   | Hall E (100' x 50')  | 5,000    |      |                                       |                   |  |
| 2.4   | Western Car Park Area Hall - G (150' x 100')   | 15,000   |      |                                       |                   |  |
| 2.5   | Western Car Park Area Hall - H1 (145' x 33')   | 4,785    |      |                                       |                   |  |
| 2.6   | Western Car Park Area Hall - H2 (65' x 50')  | 3,250    | Sqft |                                       |                   |  |
| 2.7   | Mihilak Medura Hall - K (100' x 40')   | 4,000    | Sqrt |                                       |                   |  |
| 2.8   | Open Air Hall - L (250' x 66')   | 16,500   |      |                                       |                   |  |
| 2.9   | Hall - P (80' x 40')   | 3,200    |      |                                       |                   |  |
| 2.10  | Nugasewana -M (50'*150')   | 7,500    |      |                                       |                   |  |
| 2.11  | Gate 4 Grass Area Hall - S2 (100' x 50')   | 5,000    |      |                                       |                   |  |
| 2.12  | Hall U (350'*50')  | 17,500   |      |                                       |                   |  |
| 2.13  | Supply ,installation,dismantelling and removal after exhibition of fully covered, <b>Air conditioned</b> pre fabricated "A" shaped German marquee with suitable entrance and exists including floor decks with floor carpet and 02 tables,chairs and visitor sofa furniture. (Near smack outlet)   | 200      | sqft |                                       |                   |  |
|   | 1.Operation Tent -10' x 20' Total of Page No. 02 carried to Summary in Page No. 07   |          |      |                                       |                   |  |

|  | INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylor<br>Bill of Quantities -T/05/2024  |          |      |                                       |                   |  |
|--|--|----------|------|---------------------------------------|-------------------|--|
| For the All Utilities of Five Days Exhibition (19,20,21,22 & 23 of June 2024 ) |  |          |      |                                       |                   |  |
| No   | Description  | Quantity | Unit | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |  |
| TRADE ST   | ALLS   |          |      |                                       |                   |  |
| 3  | Supply , installation ,dismantle and removal of pre fabricated stalls having the size of <b>3m x 3m</b> as per the stall plan including followings. (Rate shall be included for followings.)   | 940      | Nos  |                                       |                   |  |
| 3  | 01 number of counter table (3' x2') & 02 number of plastic chairs within the given time period.(Tables and chairs should be placed in the stalls).   | 940      | INOS |                                       |                   |  |
| 4  | Supply , installation ,dismantle and removal of pre fabricated stalls having the size of <b>2m x 2m</b> as per the stall plan including followings. (Rate shall be included for followings.)   | 60       | Nos  |                                       |                   |  |
| 4  | 01 number of counter table (3' x2') with <b>black table cloths</b> & 02 number of plastic chairs within the given time period.(Tables and chairs should be placed in the stalls).  |          | NOS  |                                       |                   |  |
| LIGHTING   | & POWER SUPPLY FOR STALLS  |          |      |                                       |                   |  |
|  | Note: All installation should connected to a distribution board with all necessary accessories including main cable from power source(i.e generator breaker or inbuild DB of the main Hall.  |          |      |                                       |                   |  |
| 5  | 1).Supply and install (including wiring) suitable 15 W spot lights to illuminate stalls (Two nos for one stall)<br>Pls Note - All wires on the floor area of all halls should be covered by PVC conduit pipes as per the IEE safety guidelines.  | 1,315    | Nos  |                                       |                   |  |
|  | 2).Supply and install (including wiring) 13A socket outlets to powerup stalls as required (1 number for 1 stall) IEE safety guidelines.  |          |      |                                       |                   |  |
| MAINTEN  | ANCE STAFF ALLOCATION  |          |      |                                       |                   |  |
| 6  | Providing <b>Electrical &amp; Air Conditioning maintenance staff</b> to carried out all construction and maintenance work from the day before exhibition to end date of the exhibition (Team atleast consist of one skilled technician and one helper. They are required to sign in on an hourly basis to indicate their presence.)<br>Note - Need separate teams dedicated to maintenance, distinct from the installation team. |          |      |                                       |                   |  |
| 6.1  | Electrical maintenance teams-  | 12       | Nos  |                                       |                   |  |
| 6.2  | Air Conditioning maintenance teams-  | 5        | Nos  |                                       |                   |  |
|  | Total of Page No. 03 carried to<br>Summary in Page No. 07  |          |      |                                       |                   |  |

| INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylon<br>Bill of Quantities T/OF (2024     |   |               |              |                                       |                   |  |
|---|---|---------------|--------------|---------------------------------------|-------------------|--|
| Bill of Quantities -T/05/2024<br>For the All Utilities of Five Days Exhibition (19,20,21,22 & 23 of June 2024 ) |   |               |              |                                       |                   |  |
| No  | Description   | Quantity      | Unit         | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |  |
| EXTERNA   | LIGHTING  |               |              | · · · · ·                             |                   |  |
| Note: All i   | nstallation should connected to a distribution board with all necessary accessories including main cable from power sour  | ce(i.e genera | ator breaker | or inbuild DB of the mair             | n Hall.           |  |
| 7   | Supply and install (including wiring) <b>100 W LED</b> light IP68 to illuminate covering the land area around the marqee areas.   | 100           | Nos          |                                       |                   |  |
| 8   | Design supply and install (including wiring) <b>30 W LED</b> reflector lights to illuminate tent and other areas sufficiantly.  | 565           | Nos          |                                       |                   |  |
| 9   | Design supply and install (including wiring) 3W 54 LED's RGB <b>power can lights</b> for garden areas according to layout requirements                                  | 200           | Nos          |                                       |                   |  |
| 10  | Supply and install (including wiring) 13A socket outlet to powerup open spaces , 30 W LED reflector light to illuminate space (1 number of each for 1 space)            | 19            | Nos          |                                       |                   |  |
| 11  | Design supply and install (including wiring) moving heads lights for garden areas/building according to layout requirements   | 20            | Nos          |                                       |                   |  |
| ENTRANC   | E GATE PANDOLS/VIDEO WALLS  |               |              |                                       |                   |  |
| 12  | Supply and install exhibition area main entrance pandol(over the road) according to the main theme.   | 1             | Nos          |                                       |                   |  |
| 13  | Supply and install exhibition area <b>sub entrance pandol</b> (over the road) according to the main theme.  | 2             | Nos          |                                       |                   |  |
| 14  | Supply of PA system covering the BMICH premises and surrounding area ( including horn speaker,tops and bins,cabling,mics & necessary instuments.)                       | 1             | ltem         |                                       |                   |  |
| 15  | 06'X10' P-4 Outdoor Quality LED Strips with supporting structures placed along both sides of the main entrance road<br>including Multi Screen Continue Playback System. | 16            | Nos          |                                       |                   |  |
| 16  | Supply and Fixing of digitally printed flex banners size of 06'X10'with supporting structures placed along both sides of the main entrance road                         | 16            | Nos          |                                       |                   |  |
| 17  | 12'X8' P-4 Outdoor Qualit LED wall including necessary instumentations with supporting structures   | 3             | Nos          |                                       |                   |  |
|   |   |               |              |                                       |                   |  |

|         | INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylon<br>Bill of Quantities -T/05/2024                                     |           |          |                                       |                   |  |
|---------|---|-----------|----------|---------------------------------------|-------------------|--|
|         | For the All Utilities of Five Days Exhibition (19,20,21,22 &  | 23 of Jun | e 2024 ) |                                       |                   |  |
| No      | Description   | Quantity  | Unit     | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |  |
| ORGANIZ | ING AND CONDUCTING OF INNOGORATION CEREMONY ON LOBBY OF SIRIMAVO HALL FOR 05 DAYS   |           |          |                                       |                   |  |
| 18      | 40'X13' P-3 High Defenition Quality Indoor OpenableLED Screen -(5 Days during exhibition hours)   | 1         | Nos      |                                       |                   |  |
| 19      | Surrounding Sound System for Innogoration Area-(5 Days during exhibition hours)   | 1         | ltem     |                                       |                   |  |
| 20      | Effect Lights & Color wash Light System for Innogoration Area-(5 Days during exhibition hours)  | 1         | ltem     |                                       |                   |  |
| 21      | Conceptualized Dance Act according to the theme-(Only for 1 <sup>st</sup> day innogoration)   | 1         | Item     |                                       |                   |  |
| 22      | Kandian Dance Team-(Only for 5 day innogoration)  | 1         | Item     |                                       |                   |  |
| 23      | Stage for Innogoration Area (keep ready for the occation)   | 1         | Item     |                                       |                   |  |
| 24      | VIP Chairs (keep ready for the occation)  | 40        | Nos      |                                       |                   |  |
| 25      | Black Curatin Covering for lobby area   | 1         | Item     |                                       |                   |  |
| 26      | Providing Media Unit Innogoration Ceremony  | 1         | ltem     |                                       |                   |  |
| 27      | Supply and decorate podium with flora arrangement   | 1         | Nos      |                                       |                   |  |
| 28      | Supply ,install and function 16' x 10' P-3 indoor LED Screen for display adds including playback system for both sides of the sirimawo entrance | 2         | Nos      |                                       |                   |  |
|         | Total of Page No. 05 carried to<br>Summary in Page No. 07   |           |          |                                       |                   |  |

| INTERNATIONAL INDUSTRY EXPO 2024<br>Industrial Development Board of Ceylon<br>Bill of Quantities -T/05/2024 |  |              |          |                                       |                   |
|---|--|--------------|----------|---------------------------------------|-------------------|
|   | For the All Utilities of Five Days Exhibition (19,20,21,22 8   | a 23 of June | e 2024 ) |                                       |                   |
| No  | Description  | Quantity     | Unit     | Unit Price for 5 days<br>Period (Rs.) | Total value (Rs.) |
| ВМІСН М   | IAIN HALL SYMPOSIUM-2 Days   |              |          |                                       |                   |
| 29  | 30'X15' P-3 High Defenition Quality Indoor LED Screen with required instruments  | 1            | Nos      |                                       |                   |
| 30  | Surrounding Sound System with 5 FM Mics  | 1            | Item     |                                       |                   |
| 31  | Glass top tables for stage   | 2            | Nos      |                                       |                   |
| 32  | VIP Chairs   | 5            | Nos      |                                       |                   |
| 33  | Floor arrangements for podium & oil lamp   | 1            | Item     |                                       |                   |
| r-Shirt f   | RINTING  |              |          | •                                     |                   |
| 34  | Design, print & Supply of Exhibition branding T shirts   | 800          | Nos      |                                       |                   |
| FICKETIN  | G  |              |          |                                       |                   |
| 35  | Make arrangements for ticketing counters to control unauthorized entry from other entrances with tents for ticketing counters including tables and chairs(10'*20' marquee) | 3            | Nos      |                                       |                   |
|   | Total of Page No. 06 carried to<br>Summary in Page No. 07  |              |          |                                       |                   |

Note:

1 The contractor shall Provide full time maintenance staff to attend all kinds of emergencies arise in all the services (Civil, Electrical, Mechanical, Sound System And Etc.)